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This test consists of 8 questions.

Question Points
Q#1 /4
Time allowed. 60 minutes. Q#2 /4
Q#3 /4
You must show all necessary steps of your Qi#t4 /4
solution. Qi#5 /4
Q#6 /4
Calculators are not allowed. Q#7 /4
Q#8 /4
This test worth 8% of the total marks allocated Total points = /32

to this course.




Question 1: If the equation — 2 (y — 3) + 2(%y + 2) = by + 10isan
Identity. Find 3 b
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Question 2: If x = —2 is a solution of the equation
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Question 3: If 2y? + 12y + 17 = 0 is written in the complete square form
as (y—a)*=b.Finda+b

* i
24 +/\2kd+4_ =0 T

|
3y = =2
CRED,
—\-3)2'-'-':"'" a=-3 a-\-b.,-_..3+42-_
7&‘3 2~ ) b ) -
> s axb =735
(Y-*)= >
Eo.s;f\—/
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Question 6: Solve the equation |x + 1|2 — |x + 1| = 6.
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Question 7: solve the inequality and write the solution in interval notation:
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Question 8: If the length of a rectangle is 2 m less than twice the width.
The Perimeter is 32m. Find the length.
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